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6.1 Implicit Differentiation

Derivative at a point — implicit differentiation.

4. Find the equation of any tangent line for x2+y?=4atx=1
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2nd perivative — Implicit Differentiation:
Finding the 2" derivative implicitly is 2 little trickier than finding it explicitly. Once you
have done a few, you'll see it’s just a matter of algebraic substitution.
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6.1 Implicit Differentiation m
Calculus Y= fex) Name: Y

Flnd—— 4o » -
1. 4""536 +2y 2. 5y2+3=x2 3. 3x___y3+4
o= lox 4’ |0 ’___ 9 _ z’ /
6y ' Q 7= @2 e
- I3 l
Cur T — (o “7/
o 2y j j
(@ x* = 4y® + 5 5. (4" + )7 = 322 6 2x = 35 + 47
z ! ! 3 AN - 3 =
217)’: "lt) 3 s il loj-(j Vo) 43 “’q)(l’?"ﬂ’kﬁ )v % e = 2 ij kqﬁ(qj Y )
./__ é/DC. 2.
¢ cd o 2y T by deu) ! &>
z — ) 4—'-' — T
9 ('23 _},’Oj )/ > Yy Y ? 18111( %334_“)
% .
I i)( ET _/—-—:—3"’ — -
Yz [6y™ (Y1) - ]
L\/i%’f ey 29 3y (3% ) o
7. =3y +y3 =5x 8. 5x3 — 2y =5y3 9. (x+y)=2x
29+ By= S IS = 2Y= 1TIY g (caygy(iay D= T
2 T / ’ -
v ayZ= s s = 1Sy |y s 2
-l - CxX+™)
/ — 1Sx =y 15y ) 2
= bl /- |
- = L (S .- Ja |
‘3C':j~|> ;j- o x—fj
LFy T2 ol = [—x-™
10. 4x+1 = yZ 11. 3x2—6y2+5=9y_3x 12. y2_7y+x2 —'z;—'jlo

btoza2yy’ bx—l2gy'z 4yl |2y By PTTITC

— . B Y
e 4 bxis= Ay'r (z%’m(@ﬁ"?)
- (
7 9l (qs l2y) =663y = — 2x*Y -
I = [ bxt3 “9-*




